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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Under the Exchange Rate System, the Central Bank can

control the foreign exchange rate in a range bound manner.
(Choose the correct option to fill in the blank) 1
(A) Fixed
(B) Flexible
(C) Managed floating
(D)  Gold standard
EEE
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2.  TmfcRad et — e (A) 3R HROT (R) Tl 3TEIIH i |
T few U foeredt # § GET faehed o1 =94 il
TR (A) : TcIeT L SAThA/FHFIIT shl IAT/ATH 9T I fh ST & |
FRU(R): A& U o YA HT SF TRl ST 3915 T AN a1 foha S

HhdT 2 |
ﬁib_c'q:
(A) AT (A) 3R RO (R) SHT T & 3T FR0T (R), AR (A) Fit Tl
TR |
(B) 3R (A) 3T FROT (R) ST G €, Afehd 10T (R), 311eRe (A) it 9&t
AT 2 |

(C)  ANTHYT (A) T, Ak R (R) 3T 2 |
(D)  ATHIT (A) 3T &, Afehd RO (R) T # |

3. I o fagid B-id‘fd, ‘Ga¥ W@r’ (Reference Line) aﬁwqrvaﬁ%ﬁﬂs‘
e folg | TSI et U Eftelt v € |
(kT <A1 g o feTq H& forshed T == hifTY)
(A) 25° (B)  40°
(C) 45° (D) 70°

4.  TFIRIT oAl 1 AFYEH T HINT :

Fo 1 Wi TR SgRT (MPC) | TTead e 37T Sohtg SUMITH & |

FIT2 . A H Ihg % FAEY, YA 6 T H ST g Had AT 6 &L H
g & S7fereh B 2 |

fau T et o 3Teties |, FfeTRad § & gt foehed o1 =i hifsie

(A) FIT19TEINFHIT 2 IATA ¢ |

(B) U1 IO AP 2HA¢ |

(C) FT1AN2TNTAE |

(D) FHUT 12T A& |

5.  STIfHE HE o AN 1 HET 3¢ JdHH T T ohirgd AT & |
(kT <A1 fd o foeTq wiet forshed =1 =~ hifSTg)
A) ol sreiqer (B) ot e
(C)  ROTl hT At (D)  ohe TETET 3{EH
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2. Read the following statements — Assertion (A) and Reason (R).

Choose the correct alternative from the options given below :

Assertion (A) : Direct taxes are imposed on income/profits of
individuals/companies.

Reason (R): The burden of payment of direct taxes cannot be shifted to
any other entity.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

3. Under the Keynesian theory, ‘Reference Line’ is a straight line passing
through the origin drawn at an angle of

(Choose the correct option to fill in the blank)
(A)  25° (B) 40°
(C) 45° (D) 70°

4, Read the following statements carefully :
Statement 1 : Marginal Propensity to Consume (MPC) refers to the
consumption per unit of income.

Statement 2 : As the income increases, the proportionate increase in the
level of consumption is always more than the increase in
the level of income.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

5. The main objective of measuring the primary deficit is to highlight

present

(Choose the correct option to fill in the blank) 1
(A) fiscal imbalances (B) fiscal balances
(C) recovery of loans (D) cash grant-in-aid
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6.  TFfIRad ol o1 eageeh 3Tega i :
FIT 1  SUH IR TR T SR foeeft 931 T AT H eh A B |
FIF2 ;.  AREAS (FA) H YRS o [T Sl qafHaior o fos® % (IBRD)
g forfier wreraraT, foreeft wam ot Sqfd T Cw A 2 |
e T Tt o ATt W, Fferiad # @ gt faene o1 == Fifse
(A) F9F 19 8 SN FHMH 2 AT 7 |
(B) U130 INFIT2dA L |
(C) HYT1IN2IAEAR |
(D) U 1 3R 2 GHT WA E |
7. U fg-an sredeyawen o, gy ui T % AT g et
S ST Hahd & | Tk T 3Rt 9 o foTe wrelt forshed o1 <19 ShiTNTQ)
(A) 399, fawT B) faw, s=a
(C) ST, s=id (D) s, frfa
8.  TmfciRad ol o1 eageeh 3Tega IS :
FYT1: TR TRt AT ¥ yafctd Auehifaeit siater sl fRifa = &
T, Oy T | hHT T Hehd1 § |
FIF2 .  HER G ISR H Gl iasfeat (G-Sec) st fofshl g, staedifaent
AU T hH] T T B |
fau T et o 3TTeties |, FfeTRad § & gt foehed o1 =i hifse
(A) F9F 19 8 SN FHMH 2 AT 7 |
(B) HUY913IFAEINFIT2TAE |
(C) HYT1IN2INEAL |
(D) AT 12 AT A E |
9.  WIEN WA W Hehel 9o Ih& (GVA,,) % e i T8 T o fefu, st shidd o
ehel 4o 16 (GVA, ) 9H Edl ST =R |
(o T2t =61 qfd o fore @t forered =1 < shifsTg)
(A) HIBH, Sliel
(B) ¥, UM
(C) Tioa sTveaes =, frer
(D) fHaet T9cTe T, gern
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6. Read the following statements carefully :

Statement 1 : Import of heavy machinery from Japan is a source of
demand for foreign exchange.

Statement 2 : Financial aid by International Bank for Reconstruction
and Development (IBRD) for landslide in Wayanad
(Kerala) is a source of supply of foreign exchange.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

7. In a two-sector economy, the Aggregate Demand can be determined by

adding and .

(Choose the correct option to fill in the blanks)

(A)  consumption, investments (B) investments, savings

(C)  consumption, savings (D) savings, exports

8. Read the following statements carefully :

Statement 1 : The government may reduce the repo rate, to control
deflationary gap prevailing in the economy.

Statement 2: The government may reduce the deflationary gap, by
selling off government securities (G-Sec) in the open
market.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

9. To arrive at the value of Gross Value Added at Factor Cost (GVAp.),
must be to/from Gross Value Added at

Market Price (GVA, ). (Choose the correct option to fill in the blanks)

(A) depreciation, added

(B)  depreciation, subtracted

(C) Net Indirect Taxes, added

(D)  Net Indirect Taxes, subtracted
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10. ﬁmﬁfmwﬁwwﬂmmﬂmsﬁﬁq
FIF 1 eSS U, I TEU Bl 8, Sieh foIe g sht qwed 3Tl g0 97T
%Fmsrm%
F92 ;. et oqe, 9 a&qd B E Gﬁ %Fﬁ T2l THR U S9STHd
(subsidised) g T IUTY TS ST & |
feu 7w oMl o 31T |, FREfafgd § 9 g8t foehed o1 ==a ifsig
(A) FAT1HTE AN FHIT 2 IFT R |
(B) U1 IEA L INFHIT 2 TR |
(C) HH1IAN2IA TS |
(D) AT 13 2T A2 |
11. (&) T 3w o udia o & o1t sht o1 fafer & weiferq foreet &t amaenfaan
AT hIT |
YT
@) frafaRaa seafie rfee & smar w
R FIS H)
EL THHE GDP THHTH GDP
(TR T 1 F19d1 @ THII)
2020 - 21 3,000 5,000
2022 — 23 4,000 6,000
2020 — 21 %! AR IY A Y, IY 2022 — 23 H IRl Hehel BT 1S
(GDP) # Wfra ai@d T 0T ST |
12, “3T sl STHATATST ol hH i & TIT HUT Teh THTST ST 2 |
Y FHRON g0 fow T4 she sk fifure fiag v
13. Tl TTer 1 emYEeh 3TEa shifsg -
U Y GEr g fifhd ue fd o et e © R srelererwen o gy @i, fariye
fsit 3uwiT wie o, et e 311 @ | g8 sarieles = | 3 s, SA1fdisk aiffet s
TredTiad s % 1T QT SrRITTRE #hi deehiet SATervaehar s Uierird sidl € |
fou 7T TT=r Tt W JE o STYUR W, 39 SR shl SARAT IS {578 TR Hahfdeh
HHET ! 3ok A o fTu SaT gahd1 R |
14.  (F) YIAH e WTd % Sd YSft @Td o [heal a1 Seehl hl AT HifT |
YT
(@) T el J THREISH d-eqT H 3ia T IS |
15. @wwﬁmaﬁwaw%%qﬁmmﬁmgq,wwmawm%
AL T SHATHH TR ;
i) WW‘TW( ) =% 50 HE
(i)  ©wid s/=a yaiki (MPS) = 0-2
(i) @ e (1) =% 100 g
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10.

11.

12.

13.

14.

15.

Read the following statements carefully :

Statement 1 : Public goods are those goods for which the payments are
made by all the entities in the country.

Statement 2 : Private goods are those goods which are provided by the
government of a country at subsidised rates.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

(a) Explain any two precautions pertaining to the Income Method of

Estimation of National Income in a country.
OR
(b)  On the basis of the following hypothetical data :

(in T crore)
Year Nominal GDP | Nominal GDP (adjusted
to base year prices)

2020-21 3,000 5,000

2022 — 23 4,000 6,000

Calculate the percentage change in Real Gross Domestic Product
(GDP) in the year 2022 — 23 using 2020 — 21 as the base year.

“Taxation is an effective tool to reduce the inequalities of income.”

Justify the given statement with valid reasons.

Read the following text carefully :

According to a report issued by a research organisation, there is a sharp
decline in the overall demand in the economy, particularly in the private
consumption segment. This dip in the macro economic variables,
highlights the urgent need for strategic actions to stimulate economic
activities.

On the basis of the given text and common understanding, explain the
measure which the government may take to solve the indicated problem.

(a) Elaborate any two components of the Capital Account under the

Balance of Payments Account.
OR

(b)  Distinguish between Autonomous transactions and
Accommodating transactions.

Assuming the following for a hypothetical economy, estimate the

Break-even level of Income and Equilibrium level of Income :

(1) Autonomous Consumption Expenditure ( ) =% 50 crore

(i)  Marginal Propensity to Save (MPS) = 0-2

(iii) Autonomous Investments (I)) = ¥ 100 crore

58/4/2
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16. &) () #W AT fF, wh Feufes A i Fad T e X, YT Z E |
U oY o S, rdereen # fferRad oea fpu e &
(D %4 X R EH Y %I T 20,000 TAT HH Z 1 % 12,000 o He T
EIGREEIREDIRIDIN
(II) % Y gR1%H X %1 T 11,000 TAT HH Z i % 35,000 o HeI T
e fershi foram |
(III) %H Z SN &%l 31 % 57,000 o HeT o1 AT SifdH ITHIT o
foru forsht femam mmam |
3T Qe o TR R STfae H, TSR Jod T e Be] 318
(GDP, ;) * e shi UM shifef |
(i)  foret <3 | 20 7T SREqQrQ o 0T <A1 forel Srefegeree | Hehet Ble]
37UTE (GDP) I ™ I UG STt SHTfard THTa shl =T shifolu |
areraT
@ () Fefaied et & AUR W, T8 /e 3ca1e (NDP,) % 9T
LA THTIST |
%4, e afir
RIS H)
(1) | TEE 3N 300
(i) | Gkl SATITER et gsfl fmior 150
(iii) | Tohet STTaTE fmtor frare 120
(iv) | i Sifam o == 270
(v) | 3T ot fia aX smfeer 20
(vi) mﬁﬂﬁ(Inventory)ﬁaﬁT 50
(vii) | FIohet GTesTieh farT 130
(viii) | Y& ST 20
(ix) | foraem & uTH 378 e A (=) 25
(x) | Crft it T SawmT 40
(i) 3T % =3hIT Y8 o UM (Disposition) T H ®HT § €l Tk
Fh 3T (factor income) T Y8 HfFATAT BIAT S 17
Y T d B HAA 45, HIT |
58/4/2
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16. (a) (1) Suppose there are only three firms in an imaginary
economy, viz. X, Y and Z. During a year, the following
transactions took place in the economy :

(D Firm X sold goods worth ¥ 20,000 to Firm Y and
12,000 to Firm Z.
(I)  Firm Y sold goods worth ¥ 11,000 to Firm X and
¥ 35,000 to Firm Z.
(III)  Firm Z sold goods worth ¥ 57,000 to households for
final consumption.
On the basis of the given transactions, calculate the value of
Gross Domestic Product at Market Price (GDPpip) in the
economy. 4
(i1)  Discuss the likely impact of construction of 20 new hospitals
in a country on the Gross Domestic Product (GDP) and
Welfare in the economy. 2
OR
(b)y () On the basis of the following data, estimate the value of Net
Domestic Product (NDP) : 4
S.No. Items Amount
(in T Crore)
) Household Consumption Expenditure 800
(ii) Gross Business Fixed Capital Formation 150
(iii) Gross Residential Construction
120
Investment
(iv) Government Final Consumption
. 270
Expenditure
W) Excess of Imports over Exports 20
(vi) Inventory Investments 50
(vii) Gross Public Investments 130
(viii) | Net Indirect Taxes 20
(ix) Net Factor Income from Abroad (-) 25
(%) Consumption of Fixed Capital 40
(ii))  “Disposition phase of circular flow of income involves flow of
factor income from firms to households.”
Justify the statement giving valid reason. 2
EEE
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17.  (F) 3YIH HEATCHS ST T ARG YT TTshAT b fored® & THEATST | 4
@)  HEfafad T e SerE i
“TST T IE R b AT HIH o ETH oI ol ST aTed] farfs=T wat i
SUCTeY ST & | I8 Hed! ol qoiT i o ot fehie Ta i ofafd aar e 17
(1) T ITC e % STER W, qaT o Hehldeh Rl Al T8 shifse | 1
(i) T2 ol a1 311 T ol Eelierg, shiTT | 1
QY us g
WA 3Tiefer ferermar
18. UM It fob, TATIRET # & SIF-AT 1947 o TTq 9T o UTIREdT ohl Afdm §
YT ! ST 78T ST & | 1
(A) 2l Fma-Feior fifd (B) &R shifa
(C)  3TTa TfdwemaT (D) Tafsra srefeamen ot
19. UgaH HIfST for, vy 6 grfior Sfshr yormeft o s # fF=faiad & @ wa-ar e
AR
GHEEEIREARCRECA IS
(A) T S S H, NG H T GaTe &9 9 Giard JrHr sifer qoref! s
fermtor femam T o |
(B) TR H TTHIOT SHfefT STttt H g-TsieT EEerHi T U THE |ikaTerd & |
(C) &ty rivT e, el & fH foehre e IR | A7 SfhT Jomed % Fo
e B B |
(D) 9RA ¥ yrHiur SfehT omelt YR ¥e S & qriey, ey 9 qdaer &
JiarTd i AT R |
20. TadAAT ST AT H, TG o e HATare T gem PECLRRISEIC T
e <strenfasdar 9t aet feam o)
(Toeh T <1 fd o foTq Belt forshcd ol sRA hINT) 1
(A) 8 B 7
(C) 6 (D) 5
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17. (a) [Elaborate the process of Credit Creation using a suitable numerical
example. 4

(b)  Read the following text carefully :

“This function of money provides different items to be evaluated
against a common standard. It allows comparison of prices and
keeping financial records.”

(1) On the basis of the given text, identify the indicated function
of money. 1

(ii)  List any other two functions of money. 1

SECTION B
Indian Economic Development

18. Identify, which of the following does not indicate the similarities in the

policies of India and Pakistan in the post 1947 period. 1
(A)  Dual pricing policy (B) Green revolution
(C)  Import substitution (D) Mixed economic system

19. Identify, which of the following statements is incorrect about the Rural
Banking system in India. (Choose the correct option) 1

(A) In the post-independence period, a well-structured Rural Banking

system was formulated in India.

(B) Rural Banking system in India consists of a set of multi-agency

1nstitutions.

(C)  Regional Rural Banks, Cooperative and Land Development Banks
are few important components of Rural Banking system in India.

(D) Rural Banking system in India works under the guidance,
instruction and supervision of the State Bank of India.

20. In the post-independence era, the policy makers of India pushed for

‘self-reliance’ for the first Five Year Plans.

(Choose the correct option to fill in the blank) 1
(A) 8 B) 7
C) 6 (D) 5
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21, fordft fomiy ot o T W, w8l shi faferer fomet ot Scure & farforefremor
FEYH JTETIAEIR | (Teeh T <A1 g o foTq | forhed o1 = TSI
(A)  ®HAl
(B) N 3IcUmEA
(C)  efta w=mT
(D) USRI
22, U hHIfSIT o, GHTeRoT o il o Hed # fHfcifad § @ -0 o ar@eT & |
(@& fashed &1 =g Fifs)
(A)  HYUHE 3YASY HHI
(B)  37UfTE STaeNiyd T
(C) ST IHTE W&
(D) Sfier = T[TerT =Rl TE LT
23.  ffaifiad et =1 eamEs stem i
FOA 1 ;AR W T, SIS A ! G o SUH % §9 H 115 o =1e i o9
T2Teh ST TEAT © |
FY92 . =IAqH T 4o (MSP), SR SN H9ehi o fedl sl 181 o forg faifa
ERIEIGIES
feu U oMl o 31T |, FREfafgd § 9 gt foehed o1 == ifsig
(A) FHIT 19T TN HIT 2 3T R |
(B) FI 13T IMNFAT2THT T |
(C) FHIT13IN2TATTE |
(D) FHIYT 123 ATTE |
24, WM AN TR, T srefegawer forT forell S TSP o S1@&Rl H gfg o, ardfaeh
Hshel BXe] 3ca1e (GDP) # gifg 3t Reerfeq i1 wraT s 281 8 |
rifefer iy ®, v feufa = i FET AT 2 |
(e T <A1 g o foTq |et forshed o1 == ShIRTY)
(A)  ITHRHE
(B) U=
(C) =i
(D) TR o=
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21. Production of diverse varieties of crops rather than one specialized crop is

known as diversification of
(Choose the correct option to fill in the blank)

(A) crops

(B)  agricultural production

(C)  sectoral composition

(D) employment

22. Identify, which of the following statements is imcorrect about the
functions of environment. (Choose the correct option)
(A)  Provides resources
(B)  Absorbs wastage
(C)  Sustains life
(D) Deteriorates quality of life

23. Read the following statements carefully :

Statement 1 : The Food Corporation of India maintains buffer stocks of
wheat and rice as a measure to improve market
mechanism.

Statement 2: Minimum Support Price (MSP) is imposed by the
government to safeguard the interest of farmers.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

24. Suppose an economy is experiencing a situation of rise in Real Gross
Domestic Product (GDP), without any corresponding rise in the
employment opportunities.

In economic parlance, such a situation is termed as growth.

(Choose the correct option to fill in the blank)

(A) casual

(B)  informal

(C)  formal

(D)  jobless
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25.

26.

rfcTRerd et — ST¥ehe (A) 3R HROT (R) =T L5 ShifsT |

Tt fow mu faeneat § @ o) faere st = ST

HHI (A) : THE ATTHH TS o STca e (e = %@ Tsi Bt st il s
H T T |

FRO(R) :  T3sf & 3 3eure <l qure o St gfaeqeicnend § afg i
SIS ATSHE STH H HEwIq0] € STl foham o |

farehey -

(A)  AMFHIT (A) 3R FROT (R) THT T & 3 RO (R), AR (A) Y Tl
AR |

(B)  AfRH (A) 3R FRW (R) IHT A &, Al 0T (R), TR (A) AT et
AT E © |

(C) AT (A) TeT &, Afohd HIT (R) T # |

(D) MR (A) I 8, fhT HROT (R) TR |

frfcTRad et w1 eaesh 3ea hifeg :

FIT1: AR RN o ATaETRT o forg, forfeer Hifaat e of |

FIT2 ;.  RA o AT feadl o o, Tofest Smeehi 4 9RA ol SATTRER-HT=AT
feIehTel 9T €T ohf-sd foRaT o |

feu U oMl o 31T |, FREfafgd § 9 g2t foshed o1 ==a s

(A) FIT19I LI HAT 2 IR |

(B) I 1IGILIANHIT2TTE |
(C) HIT1IN2TNETIE |
(D) HYT 1 323 AT |
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25. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative from the options given below :

Assertion (A) : Excessive regulation of permit license raj prevented

certain private firms from becoming more efficient.

Reason (R): Private sector wasted a significant time in obtaining
licenses rather than enhancing product quality and
international competitiveness.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

26. Read the following statements carefully :

Statement 1 : The British policies were accountable for commercialisation

of Indian agriculture.

Statement 2 : In the larger interest of Indians, the British rulers focused

on the infrastructural growth of India.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.
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27. TARfafad oAl — 31T (A) 3T FHROT (R) T TSI il |
Fror few U foreredt | @ w2t faered o1 = Fifve
A (A) : A YSht H Fawr § foeeryel ol o % foe g=mn aeweut e
A 21

FR (R) : AT W SITSIR o 37 &5 16 [RTETT T Eareed o o) H G IT6
& foe fasr @ 2|

IECT R

(A) AR (A) 3R HRUT (R) SHT T & 3T HROT (R), ANTRIT (A) FF @&t
AT E |

(B)  AfRYA (A) 3R &R (R) T U &, ATk SR0T (R), ANTHRLH (A) T\l
AT TR 2 |

(C)  ATRYT (A) U =, Aok HRT (R) 3T 2 |

(D) IR (A) 3T &, ok SR (R) T & |

28. IR H Tl o 3gwd o foTg fSFHER el sht samet shifse |

29, (%) “forfesr ymem & Si@fa, wra A syaftera nfeled WO ST AT FAT UeT,
Toh G1 HHTYH I 99 HuaT {57 gdiaig fohu Tu 9 |7
faw a7 e <l o TateRToT g gy i |
AT

@) 1991 % GERI H WRA TR RT ST 15 T 1Tl T HTAThA HITSTT |

30. (F) ()  HWS S ik ISt H A wam Al |
(i) T & § CLPGY 9 MR A9’ kT gRuii foehe Iiw e & forg
JUIT hl ST et Wi o &9 | i hifsig |
STET

@) () U vyRg A H&H-9ME (micro-credit) FRISFHT T STTAHTHR
TR SIS |
(i)  oRui fashm & 31ef i et hifsrT |
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27. Read the following statements — Assertion (A) and Reason (R).
Choose the correct alternative from the options given below :

Assertion (A) : Information plays a crucial role in judicious
decision-making about investing in human capital.

Reason (R): Individuals invest to acquire information about the labour
market and other areas such as education and healthcare.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

28. Elaborate the reasons responsible for emergence of poverty in Pakistan. 3
29. (a) “Under the British rule, India underwent systematic economic
exploitation with its resources and wealth being diverted to
Britain.”
Justify the given statement with valid explanation. 3
OR
(b)  Appraise the Navratan policy adopted by the Government of India
in the reforms of 1991. 3
30. (a) (@) Distinguish between human capital and physical capital. 2
(i1)  Describe ‘LPG’ and ‘Gobar Gas’ as strategies used to achieve
sustainable development in rural areas. 2
OR

(b) () Critically appraise the micro-credit programmes in rural India. 3

(ii)  State the meaning of sustainable development. 1
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31.

32.

T TQ ey =T SATqE eI ifSe 3 fmfafad st o s Al

et i & g et o Sid-3t , =9 7 Teohdt da Hifa TR i off | 39 ifa
%Wﬂﬂ?ﬁ(couples)aﬁ%ﬁ@ﬁ HAT 9aT T shl ST Y& 1 g off | 36
AT 3 = ot e gfg i R e o werar ot off |

T Aifd % weEyul g off I 8T, S TR gaT i e, T
STIfHeRAT o o SRl el ST ol Ghed |1 o (o |THTIST Htfadl ST |

2015 ¥ 3@ fifa # Siet &t 18, fored wfl et st 21w deT s ol 3ttt w8
off qem 2021 H 38 3 ffret svteh i G dek o feam R o |

%ol THATR, Sfeifer Gohet M Aifd 3 Seean gig i HEhia s o 7o wrefies
A& T UTH [T T, W] $6 SIEIRhI o HIHTISR ANl T Tk STfed 9@ i

3ca—T fora forgeht gmaT <9 A= s @I e |

() = ke Ga i o FrRI-aE o TR SRl FHETET |

@) = 4 e Hae Al o i o et T T s Sead i |

1= deh! ST, 3oci d foeqd ST HIfSTT foh FfeiRad shem 9e € o1ear 319

(F) SO FMN, W FY ATCH B TAHET T T SANGd Sifdeh AN
eI s T Teh |TeH T8 L] © |

(@) WA H FEEA o SATARIF A <0 o el o 7 USTR G o Hd T
= A g g H 2 |
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31. Read the given text carefully and answer the following questions :

In response to the problem of rapidly rising population, China introduced
the ‘One Child Policy’. The policy restricted couples to having only one
child. This policy helped China to limit the population growth.

This policy led to significant consequences, such as an increase ageing
population, gender imbalances due to male child preference and social

challenges for single children, etc.

This policy was relaxed in 2015, allowing all couples to have two children

and further relaxed to three children in 2021.

Overall, while the One Child Policy achieved its primary goal of
controlling population growth, it also created a complex set of
demographic and social challenges that China continues to address

today.

(a) Explain the consequences of implementation of the One Child

Policy in China. 3

(b) State any one reason for the implementation of the One Child

Policy in China. 1

32. State and elaborate whether the following statements are true/false, with

valid arguments :

(a) Organic farming offers a means to substitute costlier agricultural

inputs with locally produced organic inputs. 2

(b) Informalisation of workforce in India, has increased various
concerns on the front of employment generation among the youth

of the country. 2
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33. TIFcTRad a1 o1 eAeish ST I ;
SATET 21 I TV o Siohel o STTEN, ForTd ©: aul #, AR #H STSTR Heohohi §
AT T & | 2022 — 23 H SIS & 9 3-2% & T & | FEad § Jarstl
Higastl it arfiert # gfg & Saifershia 3 <ifiren TATIieT S AT 33 o STTE I
TC R | HFdl USTIR 3Tehe forcta o 2022 — 23 o wwfeq fafmior &= & 3=t 1 qwid
2 zueh 1y € TR | fg 7 i o1 foear aftafad 2 |
forTa uier ot § EPFO % i 3[4, oa ST st aTel G & 31fere 81 7 &, St fop
Ty forehTe a1 SNY=ITieh TSI T Hohdl § |
TUTETYUT USHIR S 3 o I ST T o FAIT N-SEEhor o q@vTet Srefeeree
% 2 TS fohed B |
few T g T " I 6 AR R, FEfafad get o s ST
(F) WA HRI | sgdl g3 I o Higar WRfEH 1 hig T HEw iy |
(@) ARG § UEU USTR g9 8q SARMSHES A S aTel Tl al &l o6l

U hIfeTT |

(M) 3YH ISTENT hl HERIAT § o SISHTR o 37 sh foreqe st shifse |

34. (&) (1)  “ITHOT hl TloRAT H WA STIATEAT hl AT AT 6 EHATE |7

HT=T eht g 1T T e ol firg shifSTe |
(i)  SguEa IR o f5-9afi SR H € TE Hif |
raT
@) () 1991 % IWd A H WA TR g T ¢ fawht 731 o gari ®
& | <=t AT |

(i)  SRIe%k (Tariffs) Il (Quotas) H X T HIWT |
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33.

34.

Read the following text carefully :

Indian labour market indicators have improved in the last six years, as
per the Periodic Labour Force Survey Data. The unemployment rate has
fallen to 3-:2% in 2022 — 23. Rising youth and female participation in the
workforce present an opportunity to tap the demographic and gender
dividend. The factory employment data exhibits the bounce back of the
organised manufacturing sector in FY 2022 — 23 with rise in employment
and the upscaling of factories.

The net payroll additions under EPFO have more than doubled in the
past five years, signalling healthy growth in formal employment.

To generate and sustain quality employment, agro-processing and care
economy are two promising candidates.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any one significance of rising youth and female participation
in the Indian workforce.

(b)  Identify any two sectors which may be highlighted as promising for
generating quality employment in India.

(c)  Elaborate the meaning of disguised unemployment with the help of
a suitable example.

(a) (1) “Indian economy has greatly benefitted by the process of
globalisation.”

Justify the given statement with valid arguments.

(ii)  Distinguish between Multilateral Trade and Bilateral Trade.
OR

(b) () Discuss briefly the foreign exchange reforms undertaken by
the Government of India in the post 1991 period.

(ii))  Distinguish between Tariffs and Quotas.
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